4H14H SERVTILE
[x3#%]
100m Ti P 20 1E 8 2@ B 3@ A A[E B 5[ B 6 B 4%
KASRAEA) [ 10744(+1.5) | 10747(-0.8) ) 1140 T4) 65m53 69ma4 66m08 66m43 66m98 64m08 69mé44
EURERA) | 10"61(+1.3) | 10"67(-0.8) e () 62m11 61m21 62m22 F 61m05 63m95 63m95
=AHAEA) | 10772(-0.8) | 10"75(-0.8) LI (M2) F 53m17 F F F F 53m17
200m Ti P PR 1E 8 2@ B 3@ A AE B 5[ B 6/ B 4%
YemfEk(3) | 20"84(-1.0) | 20"96(+0.3) |GR wEmmE2) | 7Tm22(+0.8) | Tm22(+2.6) [5ma0(+2.8)| 6mas(-0.4) [7m17(+2.7) [ 7m20(+0.4)|  7m22
L2 | 2127(+0.7) [21M2CH08) P8 k4 (2) F F 6m71(-3.2) 6m71
INBEABA) | 21757(+1.8) DNF ATERIEN) | 6m68(+0.8)| 6m66(+2.1) | 6m66(-0.8) 6m68
400m Ti Y = Bk 1E 8 2@ B 3@ A
% (3) 47752 |28 | PB s 5eE(1) | 13n91(-0.6)
L) 48"83 48"39
FRE () 48"80 DNS
e = Bk 4m50 4Am60
HAHEA) X X X
800m Tk R s EAREK(3) X xO X X X
- BF i () 1'56"24 1'55"17
[A—7V]
100m 4l 204% 200m 4 4%
400mH T ek VTN (1) 10"83(+0.1) L5 () 5 22"74(-0.1)
HT2(3) 54"84 AR K (1) 10"90(+0.1)
IINIER R HE(T) 2 10"97(+0.1)
N 10"90(+0.1) 400m 4 4%
4 x100mR 17 27 3% 47 zlmnﬁ%/m(l) 11"11(+0.1) /NFRBEA4) 48"40
39786 | =AEIAERA)| EERERE) AL [ RAmaEd) A1) 3 10"84(+0.5) i) 1 48"27
EH@?(Z) 4 11"08(+0.9) B FH K] (2) 47"65
KI5 K(1) 5 11"22(-1.3) B IRy 742 11(2) 2 49"06
4 x 400mR 15 27 3% 47 £ HIE A2 6 11"22(+0.4) BRI (A) 5 50"17
3'10"41 B FH T (2) MJEEQ)  (FEHEA) P K (3) WL A(2) ; 11"31(+0.1)
Sy 47"33 48"08 47"38 47"41 SH IR 11"13(+0.1)
75 S 1E(2) 8 11"15(-0.3)
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